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Sample Item

(42 +[i)2 -
16

A) 42
®) 4

8 olcy o

The best answer to this item is *“4%"_ so answer space (C) has been shaded.
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The expression x — 2 is a factor of 4.

(A)  4x*—2x* —56

B) 4F+22-16

© 233+ 2x2 —4x — 8
(D) 3x* — 10x* —5x2 + 4

The expression ab + 3¢ — 3b — ac is equal
to

(A) (a+3)(c-b) S.
B) (a@a+3) b-9o
©) (@-3)(@+o)
D (@-3) (b-o0)

Which of the following graphs BEST
represents Ax)=x (1 —x)?

A) f(x) 6.
(£9]
®) 1o
< yl V{ x 7.
© 169
1 x
f(x)
D) -

The number of visas, V(x), issued
by an embassy annually is given by
V(x) =75 —42x+72. The LEAST number
of,visas issued in a particular year, x, is

(A) 6
(B) 9
(C) 42
D) 72

The roots of the equation 5x2 + 6x—~2 =0
are

(A) not real and not distinct
(B) not real and not equal
©) real and distinct

(D) real and equal

The set of values of x for which
5x +7>10x—-13 is

(A) x<-—4
B) x>-4
(&) x<4
(D) x>4

The range of values of x for which
5x+6<x’ is

(A) {x:-3<x<-2}

®) {x:x<-1}u{x:x26}

€ {x:x=2-1}u{x:x26}

(D) {x:-1<x<6}



If Ax) = 3x — 4 and fg(x) = x, then g(x) is 11. A function f'is defined by f: x — 2x —1. The
function _Cf is defined as
1
A
@) 3x-4 (A) fPix—>4x—4x+1
4 d B 7 frlix->27-1
(B) (C) fiixo42+1]
i (D) fPix—>4x-3
(C) 3-4x
(D) 4x-3 12. 43x27" is equal to
3m+1
The tables below show the ordered pairs (A) 3
for two functions fand g.
(B) 3n+3m
x 0 1 2 3 4 5 (®) 3/g
Al 7153 2|-71]-5
4m
D) 3=

x 0 1 2 3 4 |5

13. 8+ \/5)(2 - \/—5_) can be expressed as

gx) |3 1 L 5 1 p A
4 2 3
(A) 11-65
The val fg! i
e value of g! [(3)] is ®) 2165
1
) 9 (©) 11+ 645
B 2
ﬁc; 5 (D)  11+10J5
D) 7

14. The value of 2° where z = 5 +log,3 is
A function 4 is defined by A : x — 5x + 2.

Expressed in terms of g, A (2a + 3) is (A) log, 96
(A) 10a + 15 5

(B) 2a + 15 (B) 2

(©)  10a+17

(D) Sa+ 17 (€ At

(D) 296



15.

16.

17.

18.

The expression V5-1 when simplified is
equal to 1+/5
(A 1(3-45)
3
1
®  S(V5-3)
1
©  S(v5-3)
1
(D) 5(3_‘5 )

-1
— simplifies to

8§

(A) 1
2

B) 2

(C) 1
4

® =
&2

In a geometric progression, each of whose
terms is positive, the fifth term is 45 and
the seventh term is 5. The SIXTH term is

(A)
(B)
(C)
(D)

9

15
25
40

The sum of the ODD integers between 10
and 50 is

(A) 60
(B) 600
© 630

(D) 1960

19.

20.

21.

22.

The first four terms of a' convergent
geometric progression (GP) s given by 500,
200, 88, 32. The sum to infinity of this GP
is

/o
(A) 200
500
B)
©) 300
2500
Br =

A long-distance runner runs the first
kilometre of arace in 3 minutes 45 seconds
but finds that his speed drops steadily so that
each kilometre takes him 12 seconds more
than the preceding one. The time taken to
cover the first 12 kilometres is

(A) 58 mins 12 secs
(B) 31 mins 48 secs
©) 9 mins 18 secs

(D) 63 mins 36 secs

The lines 7x — 4y + 25 = 0 and
3x—y—5=0 intersect at the point P, where

(A) P, 10)
B) P(1,8)
(C) P(-9,-32)
D) P(S,22)

The line through the points P(k, 2) and
0(6, 8) is parallel to the line with equation
3x+y—-21=0. The value of k is

A 1
B) 4
© 8
(D) 24



23.

24.

25.

The point (2, 3) is at one end of a diameter

of the circle whose equation is

x2+32—10x +2y+1=0.

The coordinates of the other end of the
diameter are

(A)
(B)
©
(D)

The vector a is given as Si + 12j.

(12, =5)
(-12,-1)

(83 _1)
(8’ —5)

vector parallel to a is

(A)
(B)

(&)

(D)

15i + 36j

195i + 468j

1
— (51 + 12j
T ( i)

3 si+
Thia

12j)

A unit

. s [T i
Given that O4 = and OB =
25 5

the vector AB=

26.

27.

28.

The position vectors of Aand Brelative toan

o 2 3 .
originO gre | 5 | and 1 respectively.

The 3cute angle AOB is given by

(A)

(B)

©

(D)

(ﬁg—]

J\

5
Ifsin 6 = -1-5 and 0 is obtuse, then tan 6 =

(A)

B)

©)

(D)

12
13

12
13

cos(A+B)+cos(A-B)=

(A)
(B)
(&)
(D)

2cos A
2cosA+2cosB
cos’Acos’B
2cosAcos B



29.

30.

The graph of y = sin 2x is

¥y
@) ¥4
>
’ /2\/ )
-1+
FJA
® 74
—
0 n\/2u X
24
) rYa
14+
A
0 %\—/“/2
14
(D) —;’/A

The SMALLEST positive angle for
which the equation sin 6 — cos 8 = 0 for
0 <0<2m, is

(A) fid)
6
(B) ]
4
(©) Sz
6
(D) 27
3

32.

33.

34.

7 o,

sin (o + 45°) is equal to
&y o= (sin & + cos @)
A" 5
1 ;
(B) ——ﬁ (cos a —sin a)
1

(©) 2 (sin a0 — cos o)
(D) % (cos o — sin o)

47 . .
Convert — radians into degrees.
(A) 12
(B) 144
© 180
(D) 288
The exact value of tan 150° is given by
(A) -

3

1
® B
© /3
o 3
The trigonometrical expression

sin x sin x .. .
1s identical to

1—cos x l1+cos x

2sinx

(A)
B)

2tanx

2
sin x

(©)

(D)

tan? x



35.

36.

37.

Given thaty = (5 - 2x)5 , then % = 38.
(A) —10(5 — 2x)*
(B) G-
© -5(-2x)¢
(D) 10 (5 — 2x)*
The gradient at x = % op the curve
y=sinxis 6
39.
B
A —=
(A) >
-1
B) s
¢ 2
(©) =
2
\3
D ol
(D) >
The equation of a curve is given by
y=x+2)x-1).
The gradient function, % , is given by
40.

(A (x—1) (52 -2x + 6)
B) (=12 (>2-2x-6)
© (x—1)* (5x* - 2x + 6)

D) (x—1)2(5x*+2x + 6)

Given y = 5 sin2x, then

2~

A) —5 cos 2x
4

’

& &

(B) —10 cos 2x
(®)] 5 cos 2x

(D) 10 cos 2x

The curve C is given by the equation
16 >
y=x*+ - The second derivative,

is

dx2
” given by

16
@ 2-=2

X
®) 2432

x
© 2432

X
D) 2+ g

X

‘ s x ooz 50

The value of a for which I(x —5) dx= =
is 0
(A) 5
(B) 6
(®) 8
(D) 10



41.

42.

j (3x-5)* dr=

(A) (3x=5) , ¢
5

®) & "1*55)3 +K

(©) (3"1"5.5) +K

D) 3(3x5— 5)° oK

43.

The region in the first quadrant enclosed "

1 .
by the curve y=x—5x1,the linesx =0 44.

and x =2 is rotated completely about the

x-axis. The volume in units® of the solid

generated is

2
(A.) EY
(B) 8n
4n
C 22
© >
64r
D _
(D) T

45.

END OF TEST

The region R is enclosed by the x-axis, the
curve y = x>+ 2x — 1, the lines x =2 and x
= 3. The drea in units? of R is

(K 15
_3_1
(B) 3
19
(9) 3
59
D) 3
I(sinx +2cosx)dx=

(A) 2sinx—cosx+cC
(B) cosx +2sinx+¢
(C) cosx—2sinx+c
(D) 2sinx+cosx+c

1

adl x
Given that Zx— 1+ x

vt
o(1+x)’  isequalto

(A -3

3
1
B o
B
2
c) =
3
D) 2

= (1+X)2 3 then



